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[1] PCB¥H 1,100 ¥3%220 K660
[1-1]8/ 7 oo b7 ==L 15 0.3 0.8
[1-2] Y27 oo =V 45 5 14
[13] RV Zmubv T ==/ 96 10 40
[14]F FF 7o b7 = =/LHH 180 30 100
[1-4-11 27 7F—PCBD H H 33 44-7 hT/mnt 7 ==L (#77) 5.1 0.4 1.3
[1-4-2] 277 F—PCBD H 5 3,44,5-7 hT7 /a7 ==L (#81) 0.4 0.1 0.3
[1-5] X% 7 mu b7 ==/ 310 40 110
[1-5-11 275 F—PCBD 5 5 233 44X % 7mnnt 7 ==/, (#105) 22 1 4
[1-5-2] 277 F—PCBD H 5 2344,5-XFrupnt 7 ==L (#114) 1.8 0.09 0.24
[1-5-31 275 F—PCBD H 5 2,3' 44 52477 x=/L (£118) 55 5 14
[1-5-4] 277 F—PCBD H H 2'344' 54 7unb 7=/ (#123) 1.2 0.1 0.3
[1-5-5] 277 F—PCBD H 3,344 54 7unub 7=/ (#126) 1.1 0.1 0.3
[1-6] ~FH 7 mr b7 ==L 320 60 180
[1-6-11 277 F—PCBD 5 5 2,33 44, 5-~FHh 7ot 7 =/ (#156) 9 1 3
[1-6-2] 275 F—PCBD 9 % 23344 5-~FH /o7 ==/ (#157) 2.4 0.2 0.4
[1-6-3]1 27T F—PCBD 5 5 2,3 44 55-~FH oo b7 ==L (£167) 48 0.4 1.2
[1-6-4] 277 F—PCBD 5 3,344 5,5-~F¥ /oo 7= (#169) 0.3 0.1 0.3
71 ~74%7nnbt” =)V tr(130) 60 170
[1-7-11 277 F—PCBD H £ 2,2' 3,3 44' 5-~7 4 a7 x=/L (#170) tr(16) 6 17
[1-7-2] 277 F—PCBD H 5 2,2'3,44'5,5-~7 4 7uut 7=/ (#180) tr(34) 20 50
[1-7-31 27 F—PCBD H 5 2,3,3,44',5,5-~F % /uut 7=/ (£189) 0.78 0.07 0.19
(181 A7 Z /vt 7 ==/} tr(27) 10 40
[1:9] /7 mubE 7 ==/ 4 1 3
[1-10] ¥ HZ v 7 ==L 3.1 0.4 1.2
[2]HCB (~FHrmoxr ) 91 1 3
[6] DDT4H 650 4.7 M2
[6-1] p,p'-DDT 38 0.9 2.8
[6-2] p,p'-DDE 300 2 5
[6-3] p,p'-DDD 140 0.5 1.4
[6-4] 0,p'-DDT 7.5 0.4 1.1
[6-5] 0,p'-DDE 9.1 0.5 1.2
[6-6] o0,p'-DDD 160 0.4 0.9
[7]1 27 w7 A 250 8.7 ¥OK25
[7-1] cis-Z B LT > 67 2 6
[7-2] trans-Z @2 LT 69 4 11
(731 4% 7o Ls 1.5 0.4 1.0
[7-4]cis-/ F 7 v 44 0.3 0.9
[7-5] trans- / F 2 1 )b 66 2 6
[8] ~7 % 7 1 )VHH 7.8 1T ¥3%4.9
[8-1] ~F % 7 v 1.7 0.4 1.1
[8-2] cis-~T7 X 7 )L TRF T K 6.1 0.3 0.8
[8-3] trans-~T7' % 7 B LR F T K nd 1 3
[11-1] a-HCH 73 0.8 2.0
[11-2] B-HCH 120 0.8 2.4
[11-3]y-HCH (B4 : VT v) 19 0.7 2.0
[11-4] 3-HCH 20 0.5 1.2
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(1217 ersray nd 0.2 0.4
(131 ~FH7rEL T ==/L4H nd 0.6 1.5
[4]RY 7 rETT 2= —T VH (RFEED4PHI0ETOL D) 2,200 %100 ¥3%270
(14117 T 7 BEY 7 2= )Lx—F L 9 2 6
[14-1-112244-7 70 EY 7 ==/L=—F )L (#47) 6 2 6
[14-2] X ¥ T REY T = =)b=—T LI 6 2 5
[14-2-1122'445-X 27 0E®Y 7 2 =)L=—7 /L (#99) tr(4) 2 5
[14-3] ~F P T aEY 7 2= —T L 8 2 4
[14-3-112,2'4,4',5,5-~FH T nEV7 = =)L=—7 /)L (#153) tr(2) 2 4
[14-3-2]12,2'4,4'5,6-~FH 7T 0T 7 == )L=—F /)L (#154) tr(1.4) 0.7 1.7
[14-4] ~F 2T BEDT = =)L —F )LH 11 2 4
[14-4-112,2'3,3'4,5.6-~FZ T 0 EY 7 ==)L=—7 /)L (#175) KO 5 2 4
[14-4-2122'344.5.6-~TFZ 7 0EJ 7 2 =)b=—F5/L (#183) DOLEHE
[14-51 427 4 T aEY 7 = =)L=—7 LI 25 4 10
[14-6] /F 7 BEY T = =)L T—F )LIH 130 9 24
(147 FHT7TOEY T ==L —F )L 2,000 80 220
[15]~v 7 A udy B Ak (PFOS) 17 2 5
[16] ~V 7 A us # e (PFOA) tr(11) 5 12
[17] Xy %/ maRBr 55 0.3 0.9
[19] b U 7 F LR X{LEW nd 80 160

2,500

910
[20] NV 7 == A XA nd 30 70

270

820
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